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SECTION-A
i) General Awareness

Which of the following countries of South
America comprises of Lithium triangle ?
(A) Chile

(B) Argentina

(C) Bolivia

(D) All of the above

Who is also known as Iron Man of India ?
(A) Sardar Vallabhbhai Patel

(B) Dadabhai Naoroji

(C) Jawaharlal Nehru

(D) None of the above

Global Energy Transition Index 2019
was recently released by

(A) World Economic Forum (WEF)

(B) International Monetary Fund
(IMF)

(C) Food and Agricultural Organization
(FAO)

(D) None of the above

Who is also known as Patriot of Patriots ?
(A) Mahatma Gandhiji

(B) Subhas Chandra Bose

(C) Motilal Nehru

(D) None of the above

5. Which of the following statement given

below is/are true about Pradhan Mantri
Ujjwala Yojana ?

i. It aims to safeguard the health of

women and children by providing

them with a clean cooking fuel —
LPG.

ii. It ensures women's
empowerment, especially in rural
India, the connections will be
issued in the name of women of
the households.

Choose the right option given below.

(A) Onlyiis true
(B) Onlyiiis true
(C) Bothiand ii are true
(D) None of the above

What is AQI stands for interms of
environmental pollution ?

(A) Air Quality Index
(B) Air Quantity Index
(C) Air Sensitivity and Quality Index
(D) None of the above

Which of the following mobile application
launched by Central Government to
locate Janaushadi outlets and generic
medicines ?

(A) Janaushadhi Sugam
(B) E-Janaushadhi

(C) E-Janaushadhi 2.0

(D) None of the above
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8.

10.

11.

What is KYC stands for interms of
Banking and Business ?

(A) Know Your Colleague
(B) Know Your Customer
(C) Know Your Caller

(D) None of the above

What is the objective of Jaldoot
initiative of Central Government
which was recently in news ?

(A) A scheme of connecting inland
waterways of the country

(B) Atravelling exhibition which will take

the message of water conservation

to masses
(C) Providing safe drinking water
through pipelines to the remote

areas of the country
(D) None of the above

What is IFSC stands for interms of
Indian Banking System ?

(A) Indian Financial Statutory Code
(B) Indian Finance Service Code
(C) Indian Financial System Code
(D) None of the above

What is Lunar Reconnaissance Orbiter
(LRO) which was recently in news ?

(A) Itis a NASA’'s moon orbiter
(B) Itis a ISRO’s moon orbiter
(C) Itis a ESA's moon orbiter
(D) All of the above

12.

13.

14,

In which of the following sports Golden
Ball Award is presented ?

(A) Football
(B) Tennis
(C) Golf

(D) None of the above

What is K2-18b which was recently in
news ?

(A) It is the only planet orbiting a star
outside the solar system, recently
scientists found that it has both
water and temperatures that could
be habitable

(B) It is a new hybrid nuclear reactor
plant installed at Tarapur nuclear
station with the technical support
of Canada

(C) It is the new mega solar power

plant built on the banks of Narmada

river

(D) None of the above

Which of the following International
cricket stadium is also called as Mecca
of Cricket ?

(A) Lord's
(B) Eden Gardens
(C) Adelaide oval

(D) None of the above
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(A) Fia

(B) 2=

(C) Tre®

(D) 3% # A HE T

BT € H TUER A WIK2-18b TR 7
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(B) ¥ MY

(C) Ufeete et

(D) 3FqH Y FLE T
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15.

16.

17.

Which of the following country/ies
given below is/are the member of G-7
countries ?

(A) Germany

(B) USA

(C) Japan

(D) All of the above

Which one of the following Indian
cricketers given below bestowed the
sobriquet of Sultan of Multan ?

(A) Sachin Tendulkar
(B) Sourav Ganguly
(C) Virender Sehwag

(D) None of the above

What is the main aim of 1995 BASEL

BAN amendment which is recently

became an international law after

Croatia ratified it ?

(A) Prohibition of Global hazardous
waste dumping

(B) Prohibition of cross boundary
movement of endangered animal
and plants

(C) Pronhibition of usage of POP’s

(Persistent organic pollutants)

(D) None of the above

18.

19.

20.

Brabourne cricket stadium is situated at
(A) Mumbai

(B) Bengaluru

(C) Kochi

(D) None of the above

What is the main purpose of the project

SURE of central goverment ?

(A) The SURE project is a commitment
by India’s apparel industry to set a
sustainable pathway for the Indian
fashion industry and contributes to
a clean environment

(B) Thisis the flagship project of central
government which aims to provide
free higher education to all the girl
Childs in the country

(C) This is the flagship project of the

ministry of drinking water and

sanitation which aims to provide
clean drinking water in the major
cities of the country

(D) None of the above

Maharaja Ranijit Singh Junior Gold Cup
is associated with which of the following
sports ?

(A) Hockey

(B) Cricket

(C) Rugby

(D) None of the above
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@ IR ? et g o
& W@ R H @S qaed SUed
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(A) TTeh!

(B) fare

(C) Teft

(D) 3% # & & T
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21.

22.

23.

ii) General Intelligence and Reasoning Ability

IfA+B=2CandC + D = 2A, then
(A) A+C=B+D

(B) A+C=2D

(C) A+D=B+C

(D) A+C=2B

The height of an equilateral triangle is

10cm. Its area is

100
A) — cm?
(A) 3

(B) 30 crm?

(C) 100cm?
o 190
(D) J3 °m

From 1 o'clock afternoon upto 10 o'clock
in the night, the hands of a clock will be

at right angle times.
(A) 10
(B) 9
(C) 18

(D) 20

24,

25.

26.

Choose the best alternative.
68:130::7?:350

(A) 210

(B) 216

(C) 222

(D) 240

KcaC : CacK: : XgmF : ?
(A) EmgF
(B) EgmX
(C) FmgX

(D) GmeF

Inacertain code, TELEPHONE is written
as ENOHPELET. How is ALLIGATOR

written in that code ?
(A) ROTAGILLA
(B) ROTAGAIL
(C) ROTAGILER

(D) ROTEGILA
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i) T gigmr aur arfhe avaa

IRA+B=2CIRC+D=2Ad
(A) A+C=B+D

(B) A+C=2D

(C) A+D=B+C

(D) A+C=2B

% Geg Bye A SEE 10 R, @
IHFT S e BT 2

100

A 5 g w2

(B) 30%.#.2

(C) 100¥ #t.2

100

(D) T g .2

TR H 1 T F 10 T [T aF TS A
gt SR wEn |

(A) 10
(B) 9
(C) 18

(D) 20

24. HeE I RFca A |
68:130::7:350

(A) 210
(B) 216
(C) 222

(D) 240

25. KcaC:CacK:: XgmF:?

(A) EmgF
(B) EgmX
(C) FmgX

(D) GmeF

26. U& &S & d8d TELEPHONE &1
ENOHPELET forat sman 2, ot 3¢t e
¥ d8d ALLIGATOR &' fhe v forat

ST 2
(A) ROTAGILLA
(B) ROTAGAIL

(C) ROTAGILER

(D) ROTEGILA



MKG-XXX/TECHWA/1T/03

27.

28.

29.

If O =16, FOR = 42, then what is
FRONT equal to ?

(A) 61
(B) 65
(C) 73
(D) 78
If VEHEMENT is written as VEHETNEM

then how MOURNFUL be written in that

code language ?
(A) MOURLUFN
(B) MOUNULER
(C) OURMNFUL
(D) URNFULMO
Pointing towards Rita, Nikhil said, “l am

the only son of her mother’s son”. How

is Rita related to Nikhil ?
(A) Aunt

(B) Niece

(C) Mother

(D) Cousin

30. Ifthe seventh day of amonth isthree days

31.

32.

earier than Friday, what day will it be on
the nineteenth day of the month ?

(A) Sunday
(B) Monday
(C) Wednesday

(D) Friday

Find the missing character.

5/19\3 Y/, Y9\
4 6 5

(A) 25

(B) 37

(C) #1

(D) 47

What number should replace x in this

multiplication problem ?
3x4



27.

28.

29.

=11~

If2 O = 16, FOR = 42, A FRONT = ?
(A) 61
(B) 65
(C) 73

(D) 78

afé VEHEMENT &I VEHETNEM forat
ST 2, A MOURNFUL %1 38t %2 T
# 9 forar s ?

(A) MOURLUFN
(B) MOUNULER
(C) OURMNFUL
(D) URNFULMO
o1 ) o g W gy e 3 7

“¥ I HIaT I A H IHFAM TG "
{rer o e RfFa @ wafa @ 7

(A) 931
(B) WSt
(C) HmaT

(D) == 5

30.

31.

32.
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7 foelt weia =1 grai A yan @
& wear #1 2, A 3 WA v e fom
T BT 2

(A) TREm
(B) HWER
(C) Fuaw
(D) FR

e T g |
4 6 8

(A) 25

(B) 37
(C) 41
(D) 47

0T &R 1 38 WA H x F TH R F
g 2 '

3x4
4
1216

(A) 0
(B) 2
(C) 4
(D) 5
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33.

34.

35.

36.

-12-

If 22+b_ 3 then find the value of
a+4b

a+b _
a+2b

(A)

(B)

(©)

“DIE; ‘4|53 ol N[N

(D)

The average of all odd numbers upto
100 is

(A) 49
(B) 49.5
(C) 50
(D) 51

If a, b, c are real numbers, then the value
of va~b.Vb~'c.Vc"a is
(A) abc

(B) +abc

1
(©) i

(D) 1

Choose the correct alternative.
2,15,41,80, ?

(A) 111

(B) 120

(C) 121

(D) 132

37.

38.

39.

40.

Find out the wrong term.

5, 27, 61, 122, 213, 340, 509
(A) 27

(B) 61

(C) 122

(D) 509

Choose the missing term out of the
given alternatives.

H, I, KN, ?
(A) O
(B) Q
€) R
(D) S

Find the missing character.

4 Y 3 n\( 9 15Y 6
144 9801 ?

(A) 1216

(B) 2250

(C) 8100
(D) 11036

Choose out the odd one.
(A) Sparrow

(B) Swan

(C) Parrot

(D) Vulture
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33.

34.

35.

36.

-13-

a+b

2a+b_ =
af =3, a+2b ~ -

a+4b

(A)

(B)

(C)

co’—‘::;- .\Jla O, ~NN

(D)

100 d= <t ot o gt 1 ofed
FITRAT ?

(A) 49

(B) 49.5

(C) 50

(D) 51

Ife a, b, c IRH T E, A
va'b.vb'c.vc'a =2

(A) abc
(B) abc

1
O

(D) 1

Tl fwea T g |
2, 15, 41, 80, ?

(A) 111
(B) 120
(€) 121
(D) 132

37.

38.

39.

40.
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T B Ted IS B |
5, 27, 61, 122, 213, 340, 509
(A) 27
(B) 61
(C) 122
(D) 509
w7 et § @ SufRm WA A |
H, I, K N, ?
(A) O
(B) Q
(C) R
(D) S

IR T A A |
4Y3 n\(g 15Y6
144 9801 ?
(A) 1216
(B) 2250
(C) 8100
(D) 11036

T IS8 ! T |
(A) TR

(B)

(C) e

(D) =
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41.

42.

43.

44.

45.

-14-

iii) Arithmetical and Numerical Ability

LCMof 2, 3,4, 9 is
(A) 1
(B) 3
() 72
(D) 36

The least number which when divided
by 18, 24, 56 leaves a remainder 2 is

(A) 504 (B) 76
(C) 506 (D) 16

LCM of two numbers is 432 and their
HCF is 72. If one number is 144 the

other is
(A) 216
(C) 126

(B) 16
(D) 612

lfx = 3)’é + 3"%i then the value of
3x* -9 is

(A) 9 (B) 12

(C) 3 (D) 10

HCF of fractions E and E is
3 81

w 2B (8) 16

o 1 o 2

© 81 ©) 81

46.

47.

48.

49.

50.

The number of terms of the A.P. 15, 10,
5, ... should be added to make the sum
-75is

(A) 9

(B) 10

(C) 1

(D) None of these

If a? = 3, b?= 6 and ¢? = 8 then abc =
(A) £12

(B) +4

(C) 6

(D) None of these

x+E 2
f4 2+2°* =144 thenx =

@A) 2
3

B) 2
©) 3
(D) 4

If m=a* n=aand a2 = (mn*) then
Xyz =

(A) 0 (B) 1

(C) 2 (D) 4

Value of - : =
1+3™" 14+3™™™

(A) 1 (B) 0

(C) —;— (D) None of these
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2,3, 4, 9 T YW GHTITE 2
(A) 1
(B) 3
©) 72

(D) 36

I8 ~ggan T, forad 18, 24, 56 & W
[ WAY2 7 8

(A) 504 (B) 76

(C) 506 (D) 16

2 HEATAT T YW THTIEE 432 2 3R
3T HETH THTIE 72 8 | Ife O e
144, diggi a2 ?

(A) 216 (B) 16

(C) 126 (D) 612

TR x=3%5+37% A3 - oxFTHA D

(A) 9 (B) 12

(C) 3 (D) 10
e 2 w 10 wriean anmad e
3 81
@ B) 16
3
o) — D) 2
© ©

46.

47.

48.

49.

50.
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T Avf 15, 10, 5, ... F T3
WS /AT —75 2|

(A) 9
(B) 10
(C) 1
(D) T @ T

If¢ a2 = 3, b?= 6Td c2= 8Tl abc =
(A) +12
(B) +4
(C) t6

(D) T | HLR Tl

3
M4 2422 =144 Qrx=
A 2
3

(B) 2
(C) 3
(D) 4

IR m=2a* n=a’ WM a2 = (mmyEdixyz=

A) 0 ®) 1
©) 2 () 4
1 1
1+3”““+1+3""" FARE
) 1 ®) 0
© (D) T &
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51.

52.

53.

54.

55.
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The sequence whose n"termis 4n—1is
(A) 3,8,11,14, ...

(B) -3,-7,-11, .....

(€) . 7.101.15.=...

(D) None of these

If 2k + 2, k=1 and 3k + 2 are in A.P.
thenk =

(A) 2

(B) 1

(C) -2

(D) -3

If the first term of A.P. is 6 and the

common difference is 2 then the 15"
term is

(A) 32
(B) 34
(C) 30
(D) None of these

Sum of -8, =3, 2, ... upto 20 terms is
(A) 340

(B) =790

(C) 790

(D) =340

A quadratic equation whose roots are
7and-2is

(A) *+5x-14=0

(B) x*-5x+14=0

(C) x*=5x-14=0

(D) x*+5x+14=0

56.

57.

58.

59.

60.

If « and B are roots of the equation
X?=x + 2 = 0 then Ba? + aff?=

(A) 0 (B) -1
C) 2 (D) 3

25 is divided into 2 parts such that the

sum of their reciprocals is 1 The 2
parts are 6

(A) 12and 13

(B) 16 and 9

(C) 15and 10

(D) None of these

Two sisters have their monthly incomes
in the ratio 7 : 5 and their monthly
spendings is in the ratio 5 : 3. If each
saves Rs. 600 per month, theirincomes
are

(A) Rs. 2,100 and Rs. 1,500
(B) Rs.210and Rs. 150
(C) Rs. 7,000 and Rs. 5,000
(D) None of these

3°) -9°
Value of mm
(A) 0
(B) 1
(C) -1

(D) Not defined

A dealer sells a toy for Rs. 24 and gains
as much percent as the cost price of the
toy (in rupees). The cost price of the toy is
(A) 21 (B) 22

(C) 20 (D) None of these



51.

52.

53.

54.

585.
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I8 @, e nafog an—12
(A) 3,8, 11,14, ....
(B) -3,-7,-11, .....
(C) 3,7,11,15, .....

(D) T A HE Tl

Ife 2k + 2, k — 1 3R 3k + 2 THFAL Aot
Hg, k=

(A) 2

(B) 1

(C) -2

(D) -3

Tf% ot T Afi w1 v UR 6 2 iR
FF A FTHR 28, AT 159722
(A) 32

(B) 34

(C) 30

(D) ¥ AHE T

-8, -3, 2,... 20 91 & % &1 M 8
(A) 340
(B) -790
(C) 790
(D) -340

T foama el formeh 7@ 7 3fR - 2,
AEHRTTH AP AR ?

(A) X*+5x-14=0

(B) x*=5x+14=0

(C) ¥-5x-14=0

(D) x*+5x+14=0

56.

57.

58.

59.

60.
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MR o T B T - x + 2 = 0F A
g,ﬁ‘fﬁa2+aﬁ2=

(A) 0 B) -1

(C) 2 (D) 3

2531 3 AT H 38 YehR i far stman
T gem e an 1 & 3w
(A) 12313 -

(B) 1639

(C) 153 10

(D) ¥ ¥ HK &

A eI I Wi T HT IR 7 52
3R 37 AT 9T T I 5: 32 |
i3 AT o8- IHTE %, 600 1 &= HLd!
R, NI AT R

(A) ¥ 2,100 3R %. 1,500

(B) %. 210 3R %. 150

(C) %. 7,000 3 %. 5,000

(D) W & HE T

(&) -9
(A) O
(B) 1
(€) -1
(D) ufterfya = o s

F§ AR U faeiiA &1 5. 24 § S=an
? ofit 3 3 & fowra o Hwmr @
ot 3a figei fi e e @ (FACH),
a1 Raei A A e R ?

(A) 21 (B) 22

(C) 20 (D) T A T

FIAAR
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61.

62.

63.

64.

65.
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iv) Hindi Language and Comprehension

f=f e siv Ay
fe=dt it goiwmen # fhaa @R ? 66. HIFA foaT 1 AR T @ v 2, A
(A) 12 (B) 13 el & Y T I 7 B |
(C) 14 (D) 10 (A)
3G I F IGHH HTA | 81T | fg; g
R (D) T AE T
(A) RWIGTTR | ,
(B) EIE'CI%‘T[] 67. H@ﬁa'a—_mt@agﬁm%,
TS Rl o foverds e g 3 7 (B) T
(A) =z Bl
(B) R RIED (D) 0 ¥ 1S AL
Eg; a0 68. ¥ o B ¥ R,

Tt g (:-) 1 W Fa TR s e ¢

(A) FUA JTTEA H, TR forgq &
forg

(B) H I o 31 Y TR T HA &
fere

(C) 3@ am fIen & et e v e
% fore o wman 2

(D) ¥ &= e

57 gl F fe-fe g s @t w
v 3 T ot s o it Tse R, @t
W_ GERde |

(A) ANfH

(B) TG

©€) %

(D) FH A FE T

69.

70.

I 3R gE W & fort, 997 SR Ev &

IFIEIEM = |
(A) 9= I (B) WO IFm
(C) FHA WM (D) T AFE T

‘ANCTFT T T I15% B, TR qg9d 2
A) $@

(B) ™

(C) wwedt

(D) 37 @ ¥ T

Fed fFl Fea e ?

(A) TfEd e 8 & g Ieal
(B) % Tcad A S §Y ISal
(C) T THT WeId | &1 g w1sal I
(D) ¥ & =1 TE



71.

72.

73.

74.

75.
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‘37 IT AT & 918 e @ AT W AT ‘3
JTFTHA B, A SF1 & Al & AT T quT
o I E W afrEE E |
(A) T (B) If&

(C) Im (D) 3

TH-TTE FATTHE B 7
(A) EYEH qegEY

(B) FH qegew

(C) TUTTAcTE

(D) ¥4 A %S T

THTE %1 faTe % YeR SaRy |

T A

(A) T % THH TEA - FHYRT THE
(B) H1 ST A - 55 THH :
(C) 1l TE wr ~ fary v

(D) ¥ A=K T

YTe31 T qH TE, S Rt 7 fodt s
I YHE FAT R, T8 FEAATL |
(A) &
(B) fgg
(C) It

(D) 3 & HE e

T ITETET WU 39T & T ool wuse
& X gehaT 98 ERCICo]
FEAMR |

(A) T

(B) 3t

(C) @

(D) T § I T

76.

77.

78.

79.

MKG-XXX/TECHWA/1T/03

Fefrias oo aea 1 iy e T2l |

e FA GEIE SR 74T |

(A) 38 & G o, ST seim R |

(B) 30 SN M1 9T, FifHh I8 HA
AT T |

(C) & 38 % WlieA &, el I8 SR 7T |

(D) T A+ Tl

ot g & vads g
(A) TR waTe faardh

(B) Wi waTe fiadd

(C) = WEE YA

(D) ¥ & 1S TE

frforfaa & @ wiET argame #1 @ 98
TR ?

(A) H
(C) &R

o et it W H At it e $i
e, 3 FEAAE |

(A) aftle g

(B) =i+ 8%

(C) qTT

(D) 38 | FI T

IRt W dfaat & @t arg 1 Feea |
FR RN T 7 T a3 38 TR
facfigieal ___ wedwdi? |
(A) T

(B) T

(C) fawdfieur

(D) 8 & HIE T

(B) oft I vemn
(D) TSI
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v) English Language and Comprehension
ST T SR Ay

Read each sentence to find out whether there
is any errorin it. The error, if any, will be in one
part of the sentence. The alphabet of that part
is the answer.

81. “She can’t sing (A)/much than (B)/four
songs at (C)/a stretch”, he informed (D).

A part (A)/of the (B)/mango are (C)/
rotten (D).

The merit (A)/of these books (B)/are
known to everyone (C)/no error (D).

Better to (A)/ reign in hell (B)/than to (C)/
serve in heaven (D).

He went (A)/to Jaipur (B)/seeing (C)/the
Jantar Mantar (D).

82.

83.

84.

85.

Fill in the blanks by choosing the correct
connector given below them.

86. We must leave now it is
getting dark.
(A) aslong as
(B) as soon as
(C) when
(D) since
Add suitable question tags to the following
statements from among the choices given
below them.

87. Wemustwatchwhatwespeak,  ?
(A) must we
(B) mustn't we
(C) shan't we
(D) dowe

88. It was a fatal accident, ?
(A) isit

(B) didn'tit

(C) wasit

(D) wasn'tit

Nobody helped you, ?
(A) isn'tit

(B) did they

(C) would they

(D) none of these

89.

Each of the following idiom is followed by
four meanings. Indicate/mark the apt/correct
answer.

90. Between the devil and the deep sea.
(A) a deep sea diver
(B) to be evil tempered
(C) inadilemma
(D) a man who is drowning

91. To beat about the bush.
(A) not to come to the point
(B) vigorous search for the culprit

(C) easily achieved success without
much effort

working hard to achieve the goal

(D)

An axe to grind.

(A) difficult job

(B) hard labour

(C) private ends to serve

92.

(D) punishment



In each of the following sentences a word is
underlined. Choose the right synonym of the
word underlined from the alternatives given
below the sentence.

93. A Man was standing on the pavement.
(A) Floor
(B) Footpath
(C) Road -
(D) Stage
Fill in the blanks in the following sentences

using the appropriate antonyms of the words
underlined.

94. Datta gave laconic answers to the
questions asked by his

customers.
(A) Rambling
(B) Concise
(C) Terse
(D) Cheerful

95. The doctor sounded confident, but

Ashok continued to be
(A) Cocksure

(B) Convinced

(C) Certain

(D) Diffident

96. When everyone appeared credulous,

Jade looked

(A) uncredulous
(B) incredulous
(C) naive

(D) discredulous

MKG-XXX/TECHWA/1T/03

Fill in the blanks in the following sentences
using the appropriate forms of the words given
in brackets.

97. Hehad a
smile.

(transcendence)

(A) Transcendent
(B) Transcendental
(C) Transcendence
(D) Transcendency

Give one-word substitutes for the following.

98. A place of sacred privacy.
(A) profane
(B) infernal
(C) sanctum
(D) unhallowed

99. Shake or agitate violently.
(A) Atonement

(B) Derelict

(C) Convulse

(D) Blister

Fill in the blanks choosing the appropriate
words from those given below them.

100. Could you please tell me the
of a cup of tea.

(A) Prize
(B) Price
(C) Praise
(D) None of these
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101.

102.

103.

«22=

SECTION -B

| D 000 0 0

Post Specific Subject — Related Questions

1 foot is equal to

(A) 12 Inches

(B) 30.48 Centimeters
(C) 0.3048 Meters
(D) All of the above

As per|.S code of practice for Architectural
and building drawings, continuous thin
lines are used to show

(A) Visible outlines
(B) Hidden outlines
(C) Projection lines

(D) Visible edges

As per .S code of practice for Architectural
and building drawings, sequence of
folding drawing prints, should be

a : Title block to be on the topmost
fold for easy reference

b : Folding horizontally

¢ : Folding Vertically

d : Folded drawing to be of A4 size
(A) abcd

(B) cbda

(C) cbad

(D) acbd

104.

105.

106.

107.

Indian standard code of practice for
Architectural and building drawings is

(A) 1S 962
(B) 1S 963
(C) 1S 696
(D) 1S 456

S.I Unit of a force is
(A) Joules

(B) Newton

(C) Pascal

(D) Kilograms

Tan (0) is equal to
Sin®
CosH
Cos6
Sin®
1

Coto

(A)
(B)

(C)
(D) Both (A) and (C)

According to Newton’s law of motion,

force is directly proportional to
(A) Mass and Velocity

(B) Mass and Acceleration
(C) Mass and Time

(D) None of the above
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M-
e i Rea-gadt uw=

101. 1% & T B |

(A) 123

(B) 30.48 Tdnfix
(C) 0.3048 HiX
(D) 3t

102. Infheena 3R fafeen gem & fow 1S

w1 31 AfFew & 1gan, P vaet @
I fagm & forg 3w i

EiGiE
(A) T TRG@T
B) Tt g€ v
(C) T WA
(D) e TR

103. Tfdherera 2R fafeen g™ & fow 1S
FIe 31Th WfFew & R, g1 ficw =
WEAHAFA ___ BETIRY|

a: IEHE oo & fore ol ol Aie W
i scifen 2T =fRT

b: &fS ¥4 WreT

c: IIAd ®I{ Wi

d: TR ST A4 AR HTBHAT
E 114

(A) abcd

(B) cbda

(C) cbad

(D) acbd

-23-

104. 3nfHereta iR ffeen ggm & o sfemm
Ted e AT YfFed H
(A) 15962
(B) 1S 963
(C) 1S 696
(D) IS 456

105. WiFT =t S.1 gfe 2l
(A) "

(B) =
(C) Ur=hd
(D) Tretum

106. Tan (6) =

Sind
Cos9

Cos6
Sind
1
Cot8

(D) (A) 3 (C) qMI
107. = & 7Ifd o Faw & o7gEw, wfa
F AR B
(A) W IR AT
(B) W 3 =0T
(C) W R T4
(D) 3FqH A B T

(A)

(B)

(€)
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108.

1089.

110.

-24-

Aforce of 100 N acts on a body having a
mass of 4 kg for 10 seconds. If the initial
velocity of the body is 5 m/s, then distance
moved by the body in 10 seconds is

(A) 1300 m
(B) 25m

(C) 1250 m
(D) 1000 m

As per L.S, fires involving flammable
liquids or liquefiable solids are classified
under

(A) Class A fires
(B) Class B fires
(C) Class C fires
(D) Class D fires

As per |.S, minimum

percentage (of the number of various
types of extinguishers on charge)
replacement charges/refills should
always be available in stock so
that discharged extinguisher can
be recharged and brought into use
promptly.

(A) 30
(B) 50
(C) 25
(D) 10

£

112.

113.

114.

Regular polygon is a polygon in which
(A) All angles are equal in measure
(B) All sides have the same length
(C) Both (A) and (B)

(D) None of these

Area of the plane figure shown below is
' f———'
6IL
15m 3
(A) 75 m? (B) 90 m?
(C) 60 m? (D) 76 m

Planimeter is an instrument used to
measure

(A) Area of plan

(B) Boundary of an area

(C) Elevation of objects

(D) Distance between two points

A series of perpendicular offsets (in
m) were taken from a chain line to an

irregular boundary line at intervals of
10m in the following order.

3.25, 5.60, 4.20, 5.65, 7.50, 6.20, 3.25,
4.20, 5.75

The area enclosed between chain line,
irregular boundary and the end offsets
by trapezoidal rule is equal to

(B) 411 m?
(D) 415 m?

(A) 418 m?
(C) 401 m?



108.

108.

110.
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10 9% & forU 4 kg & 7E It S |
100 N &Y WifT = &t 8| sPR e it
IRy i 5 m/s B, 91 10 Tk ¥ S7
EUUESIRIE K 2l

(A) 1300 m

(B) 25m

(C) 1250 m

(D) 1000 m

.S & AR, STeHYiiel 39 ver a1 ot &
I M a1 3 ver o <1 st €,
d__ Fagadifiga UK sl

(A) T A BT

(B) T B HIA

(C) F™ C B

(D) TR D BT

.S o STER, FHHFH gfeera
(3 | = ywR & wafefawr $i
Hea) wiveeTe e / At e ey
T =TT aif femamt Rl T weaféfamm
1 =Tt e qa ST H 1 |

(A) 30

(B) 50

(C) 25

(D) 10

11,

112.

113.

114,
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Faftq giferia o vifertia @ for
(A) w9 gt o7 auE &

B) Tt et i e guE §
(C) (A) 3R (B) 3F

(D) 7 & HE T

i fow T o o = vew 2l

L 10m

L 15m J

(A) 75m? (B) 90 m?
(C) 60 m? (D) 75m

R & T =, g 3w
1 19 3 fore R smar 2

(A) TISHTHT T

(B) Wt i dim

(C) TGl 1 el

(D) 2 forgati & off= it b

Frafofaa 0§ 10 i & Ta W T
I A A & e dmT e o dead
iR (et #) 4t wh @ o )
3.25, 5.60, 4.20, 5.65, 7.50, 6.20, 3.25,
4.20,5.75

FeEea Fraw g =9 @A, sfafia
ot oK ifew e & 9 gam &

FAE 2
(A) 418 m? (B) 411 m?
(C) 401 m? (D) 415m?
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115.

116.

117

118.

Foundation for any structure is provided to
(A) Distribute total load coming on the
structure on a large area

Distribute non-uniform load of
the superstructure evenly to the
sub-soil

Give lateral stability
All of the above

(B)

(C)
(D)

Following load acting on any structure
is the lateral load

(A) Wind load
(B) Dead load
(C) Live load
(D) Snow load

Live load on any structure is the load
due to

(A) Self-weight of its components
(B) Occupancy

(C) Temperature changes

(D) Seismic activity

Bearing capacity of soil is

(A) Maximum load per unit area
which the soil will resist without
displacement

Minimum load per unit area
which the soil will resist without
displacement

Maximum load per unit area which
the soil will resist with uniform
settlement

Maximum load per unit area
which the soil will resist even with
non-uniform settlement

(B)

(C)

(D)

119.

120.

121.

122.

As a general rule, minimum depth of
foundation below natural ground level

(unless hard soil is available) is
(A) 100 cm

(B) 80cm

(C) 150cm

(D) 120cm

Following has the lowest bearing
capacity

(A) Coarse gravel

(B) Soft rocks

(C) Fine sand loose and dry
(D) Moist clay

Most commonly used deep foundation
in buildings is

(A) Raft foundation

(B) Well foundation

(C) Pile foundation

(D) Stepped footing

An instrument used for ranging is
(A) Optical square

(B) Odometer

(C) Pedometer

(D) Line ranger



115.

116.

117.

118.
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ot s aET R g TR I

M i It 21

(A) THEE & T HEHT IR TR FeA
A fFafa R

(B) 3u-Tdt & fore wom w7 & st
1 -TH 9R fafa

(C) e fRran s

(D) 3% ot

et o g w Pefifaa e @
AT AR

(A) BETH AR
(B) 3= WK
(C) RS ¥R
(D) Rwaw

Tt S EET R AR AS
FFOITH AL

(A) 30 TR @ -a5
(B) =ferym

(C) dUHH § §ead

(D) s Trfafarfer

g it aa amar 2l

(A) 9fd Zfe & & arfereram <ire it firgh
foreemm & form o

(B) Wit Ife &7 # =aw dre s g
freerm & fam e wom

(C) wfr gfe & & arfrwan W < g
T Frem & o ity ot

(D) fereham wive i gfte & =it g -
Fdfertor & g ot ol =

118:

120.

121.

122.
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T G W o T H, Wihfdes ST &
% i fia i =TaH e (S 7% o el
Iy T A R) 2

(A) 100cm

(B) 80cm

(C) 150cm

(D) 120cm

Frferfaa 1 e &1 3TET sHaT 2
(A) AT

(B) HemW EH

(C) WEH {a dicit TR T

(D) W

FAWAT § AR T WS T STH Tt
el g 2l

(A) ST

(B) =St A Ta

(C) Tra =

(D) THew @I

°m & foe swamTe T <t aTen wem
!

(A) AffEret @At

(B) AEHIR

(C) deHix

(D) WA T
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123.

124.

125.

126.

Length of each link in Engineer’s chain is
(A) 1 feet

(B) 20cm

(C) 0.6 feet

(D) 25cm

Indirect ranging is adopted when both
the ends of survey line are

(A) Not intervisible

(B) On a sloping ground
(C) Intervisible

(D) Too distant

When a chain line encounters a river
(A) Ranging is obstructed but chaining
is free

(B) Chainingis obstructed but ranging
is free

(C) Both chaining and ranging are
obstructed

(D)

Both chaining and ranging are
free

ABCD is a square. Bearing of AB = 40°.
Hence bearing of DA is

(A) 40°
(B) 320°
(C) 50°
(D) 310°

127.

128.

129.

130.

00 01 0 O A

The amount of correction due to local
attraction at a station

(A) Is constant for all bearings
(B) Varies with the bearing
(C) Depends on declination
(D) None of the above

A change point in levelling is the
(A) Very first station

(B) Last station

(C) Intermediate station where fore and
back sights are taken

Instrument station from which fore
and back sights are taken

(D)

In a differential levelling, it was recorded
that ¥’ Rise = 0, then

(A)
(B)
(©)

The ground is continuously falling
The ground is continuously rising

The ground is alternatively rising
and falling

None of the above

(D)

Pick the incorrect statement.
(A) For a vertical cliff, contours seem
to cross each other

Closed contour lines with one or
more higher ones inside represents
a depression

(B)

(C) A contour line must close upon
itself, though not necessarily within
the limits of the map

(D)

Contour lines cross a valley at right
angles



123.

124,

125.

126.

=29-

ESIEEIEER: M S E R e A K S
2l _

(A) 16

(B) 20 TR

(C) 0.6

(D) 25T

3fStge Iom o amer # oS ® ae wd
A F A DA e

(A) STt T

(B) &M dTelt STHiH W
(C) ATdiga

(D) sga Y

e Tk S TR e ) T GIHAT S @
(A) Rramn? A IFmgw

(B) =t smen @, Afh i waa @
(C) =TT R IRPT ST ST ?

(D) T 3R ISP 3FT W &

ABCD Us Wt ® | ABSHIT 40°%h GHH
21 379: DASHT AT Bl

(A) 40°

(B) 320°
(C) 50°
(D) 310°

127.

128.

129.

130.
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T RYH W IHE T & FHRT U
1 aRwTr 2

(A) Tt sifi & fom fer R

(B) ST o T SEeAaT &

(C) =io ot Fsft e 2

(D) ¥ U A FE T

afer # T et g5 forg

(A) ST e TIH

(B) 3ifdw =y

(C) Feufifewe wym W&l o o di8 &
ESIERT IS GRS

(D) TEIH-ZENM, el ¥ M I frs it
T it STt 2

2l

T Idehdl GHAoH H, I8 fere o
7 Y Rise =0, @@

(A) S TR R R

(B) S TIOR 5@ & @

(C) i I T A Tadt i R R
(D) I U HE &I

Terd faator g |
(A) T FEaiuR IgH & fore, T @
TR I IR FH & fore et 2

(B) ek T 31fieh STl & WY §g THI=
@t e F1 fafife wt §

(C) Tk THI=S @1 %! 30 T | &3
BHT TR, BTetifeh STt et foh vare
=t T o6 i

(D) THY=d {@TE TR T TH H1E Fl
IR AT &
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131.

132.

133.

134.

Young’s modulus of a material is the
ratio of within elastic limit.

(A) Normal strain to shear stress
(B) Normal strain to normal stress
(C) Shear stress to shear strain

(D) Normal stress to normal strain

Volume (in cm?®) of a 30 cm cylinder
of internal diameter 4 cm and external
diameter 10 cm is equal to

(A) 5307
(B) 630
(C) 630n

(D) Data is insufficient

A bar of cross-sectional area ‘A’ and
length ‘L’ is subjected to axial load ‘P’.
Young’s modulus of the bar material is
‘E’. Change in length of the bar is equal to

(A) PL/AE
(B) PALE
(C) P/AE
(D) PE/AL

A pavement is classified as flexible or
rigid pavements based on

(A) Surface course
(B) Sub base

(C) Base course
(D) Subgrade

135.

136.

137.

138.

Los Angeles abrasion test is carried out
to evaluate hardness of

(A) Stone aggregates
(B) Bituminous mix
(C) Subgrade

(D) None of the above

Following is to be avoided while fixing
the alignment of the highway

(A) Straight and short route

(B) Maximum utility serving maximum
population

(C) Proximity to a place of worship
(D) Rising ground

An index plan in a highway project is
(A) A map showing proposed and
existing roads

(B) A ground plan with alignment and
boundaries

(C) Amap showing general topography
of the area

(D) Preliminary survey plan

A layer in a pavement structure, which
serves as a drainage layer is

(A) Surface course
(B) Sub base
(C) Binder course
(D) Subgrade
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139.

140.

141.

142.

143.

Standard size of brick as per Indian
standards is

(A) 20x10x10cm
(B) 19x9x9cm
(C) 20x9x9cm
(D) 19x10x 10cm

Plinth in a building is

(A) Projecting course at ground floor
(B) Bottom surface of a door

(C) Bottom surface of a window

(D) Projecting course at roof level

Distemper is used on
(A) Plastered surface
(B) Unplastered surface
(C) Roof tops

(D) Doors and windows

Which material is not used for damp-
proofing ?

(A) Metal sheets

(B) Bitumen

(C) Asphalt

(D) Compressed wood

Following statement is incorrect for brick
flooring ‘

(A) It is used in places where heavy
articles are to be stacked

(B)
(C)

(D)

It is non-slippery
It does not absorb water
It is used for cheap construction

144,

145.

146.

147.

Which of the following is/are types of
Scaffolding ?

(A) Cantilever
(B) Suspended
(C) Steel

(D) All the above

Following is a widening joint used in
carpentry

(A) Butt joint

(B) Lapped joint
(C) Spliced joint
(D) Fished joint

The horizontal platform between two
flights of a stair is known as

(A) Waist
(B) Tread
(C) Going
(D) Landing

support roofing material in
trusses.

(A) Purlins
(B) Rafters
(C) Tie members
(D) Struts
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148.

149.

150.

151.

152.

Point of contra flexure in bending moment
diagram (BMD) of a beam is a point at
which BMD

(A) Changes its sign from positive to
negative or vice-versa

(B) Magnitude is maximum
(C) Is parabolic
(D) Islinear

Estimate is

(A) The actual construction cost of a
structure

(B) The probable cost arrived at, before
commencement of the structure

(C) A random guess of the cost of a
structure

(D) The probable cost of construction
materials only

sin 20 =

(A) %sine cos0
2sinBcos 0
—-2sinB cos B
None of these

(B)
(€)

(D)
Cork flooring is made using
(A) Wooden Chips

(B) Cork Chips

(C) Wooden fibres

(D) Bark of Cork oak

The proportion of Terrazo flooring
mix is

(A) 1:2t01:3

(B) 1:2to1:5

(C) 1:3t0o1:6

(D) 1:2to 1:6

153.

154,

155.

156.

157.

The most common material used as
vehicle of a paint is

(A) Tung Qil
(B) Linseed Qil
(C) Nut Oil
(D) Gingely Oil

How many ingredients are varnish
composed of ?

(A) 2
(B) 3
(C) 4
(D) 5

Which of the tool is used to press the
mortar and spread it evenly ?

(A) Trowel
(B) Aluminium rod
(C) Floats
(D) Brush

Temporary hardness of water can be
removed by

(A) Lime Soda process

(B) Zeolite process

(C) By boiling and adding lime
(D) Demineralization

In slow sand filters the turbidity of water
can be removed up to

(A) 50 ppm
(B) 75 ppm
(C) 100 ppm
(D) 150 ppm
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158.

159.

160.

161.

The process of passing water through
beds of granular materials, called

(A) Screening
(B) Sedimentation
(C) Filtration

(D) None of the above

Water supply projects are designed for
a design period of

(A) 20 to 40 years
(B) 10to 20 years
(C) 25to 50 years
(D) 30 to 60 years

A river intake is located to the which
side of the stream?

(A) Downstream side
(B) Left side
(C) Upstream side

(D) None of the above

The process of removal of fluoride

concentration of water is known as
(A) Calcination

(B) Desalination

(C) Distillation

(D) Defluoridation

162.

163.

164.

165.

As per IS: 1172-1957, water required
per head per day for average domestic
purposes, is

(A) 110 litres

(B) 85 litres

(C) 105 litres

(D) 135 litres

Which one of the following is enlarged
end of the pipe?

(A) Socket or Bell

(B) Plug

(C) Spigot

(D) Valve

Which one of the following materials is
used for manufacturing non-retum
valve ?

(A) Steel

(B) Gun metal

(C) Wrought iron

(D) Castiron

For quality control of Portland cement,
the test essentially done is

(A) Setting time
(B) Soundness
(C) Consistency test
(D) All the above
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166.

167.

168.

169.

170.

For given water content, workability
decreases if the concrete aggregates
contain an excess of

(A) Thin particles
(B) Flat particles
(C) Elongated particles
(D) All the above

M10 grade of concrete approximates
(A) 1:3:6 mix

(B) 1:1:2mix

(C) 1:2:4 mix

(D) 1:1.5:3 mix

Permissible compressive strength of
M30 concrete grade is

(A) 30 N/mm?
(B) 28 N/mm?
(C) 32 N/mm?
(D) 30.50 N/mm?

The commonly used material in the
manufacture of cement is

(A) Sand stone

(B) Lime stone

(C) Graphite

(D) None of the above

Curing a concrete for long period
ensures better

(A)
(B)
(©)
(D)

water tightness and durability
strength

water resistance

all the above

171.

172.

173.

174.

175.

V - Funnel Test was developed in
(A) Gemmany

(B) Japan

(C) China

(D) None of these

The process of proper and accurate
measurement of concrete ingredients
for uniformity of proportion, is known

(A) Grading

(B) Curing

(C) Batching
(D) All the above

Slump test is done for
(A) Concrete

(B) Clay

(C) Sand

(D) Lime

Vicat's apparatus is used for
(A)
(B)
(©)
(D)
The property of concrete in which, water

in the mix tends to rise to the surface
while placing and compacting is

fineness test

consistency test
soundness test
compressive strength test.

(A) Segregation
(B) Bulking
(C) Bleeding
(D) Creep
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178.

179.
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Admixtures which cause early setting
and hardening of concrete are called

(A) Air entraining agents
(B) Gypsu‘m

(C) Retarders

(D) Accelerators

The property of the ingredients to
separate from each other while
placing the concrete is called

(A) Segrégation

(B) Bleeding

(C) Bulking

(D) Creep

What is the meaning of bulking of
sand ?

(A) Increase in volume of sand due to
moisture absorption

(B) Increase in weight of sand due to
moisture absorption

(C) Increase in mass of sand due to

moisture absorption

(D)

Increase in strength of sand due to
moisture absorption

Aerated concrete is
(A) Very heavy weight
(B) Heavy weight

(C) Light weight

(D) Medium weight

180.

181.

182.

183.

The evaporation of water from the
surfaces and its precipitation is
known as

(A) Vegetation
(B) Infiltration
(C) Hydrologic cycle
(D) Voids ratio

Hydrology helps in
(A)
(B)

Predicting maximum flows
Forecasting the availability of
quantity of water at reservoir site
(C) Predicting the effects on the
river water level on completion of

dams

(D) All the above

Hydrograph is a graphical representation
of

(A)
B)
(®)
(D)

surface run off
rainfall
ground water flow

none of the above

Symon’s rain gauge is
(A) tipping type

(B) weighing type gauge
(C) non-recording gauge

(D) float recording gauge
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184.

185.

186.

187.

Isohytes are the imaginary lines joining
the points of equal

(A) Rainfall

(B) Height‘

(C) Humidity

(D) Pressure

The earthen embankments constructed
parallel to the river banks at some
suitable distance for flood control, are
known as‘

(A) Floods walls
(B) River walls
(C) Levees

(D) Retaining wall

When a canal is carried over a natural
drainage, the structure provided, is
known as

(A)
(B)
(©)
(D)

syphon
aqueduct
super passage

none of these

Which is the arrangement made near
top of dam for passage of excess water
from the reservoir ?

(A) Sluice way
(B) Spillway
(C) Gallery
(D) Abutments

LS ST T S TR = 2T SRF W TN T S

188.

189.

190.

191.

192.

000 0 0 00

Shape of earthen dams is
(A) Triangular

(B) Rectangular

(C) Trapezoidal

(D) Circular

Which of the following pump works on
centrifugal action ?

(A) Reciprocating pump
(B) Submersible pump
(C) Centrifugal pump
(D) Jet pump

The equipment which is self-propelled
machine used mainly to exert a
powerful tractive force for pulling other
machines

(A) Tractor

(B) Excavator
(C) Bulldozer
(D) Ropeway

The type of excavator is used for digging
at or below the operating level

(A) Clamshell
(B) Dragline
(C) Bulldozer
(D) Dipper dredgers

Worm gear pulley is also known as |
(A) Screw gear pulley block

(B) Spur gear pulley block

(C) Differential pulley block

(D) Plain pulley block
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193. Use of coolant in drilling operation is
(A) Toincrease the heat
(B) To reduce the heat
(C) Tb reduce corrosion

(D) To increase corrosion

194. Most commonly used type of drill bit is
(A) Screwdriver bit
(B) Countersunk bit
(C) Flat bit
(D) Twist bit

195. Name the equipment used for
transporting and placing of concrete in
big construction projects

(A) Mixers

(B) Belt conveyors
(C) Shovels

(D) Backhoe

196. Name the equipment which is used
to mix the ingredients of concrete in
required proportion
(A) Hoppers
(B) Belt conveyors
(C) Mixers
(D) Dumpers

-44-

197.

198.

199.

200.

00 00O

The type of material used for plastic
floors is

(A) P.V.C.

(B) Linoleum
(C) Asphalt
(D) Rubber

List out the construction equipment

below

(A) Bulldozer
(B) Backhoe
(C) Excavator
(D) All the above

The moving part in centrifugal pump is
(A) Impeller

(B) Diffuser

(C) Both (A) and (B)

(D) Neither (A) or (B)

Following materials required for making

concrete

(A) Cement

(B) Aggregates
(C) Water

(D) All the above
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IMPORTANT INSTRUCTIONS TO CANDIDATES
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This booklet contains 48 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question orcompletes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O®00

Wrong Method

0800

The Candidate must mark his/her response
after careful consideration.

Wrong Method

O@®@0O

Correct Method

0800

16. There is only one correct answer to each
question. You should blacken (®) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)




